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v' (LCA and) strategic R&D of ultra-fuel
efficient automobiles.

v' My Report Subject:
Under the condition of both sustainable
development and equity mentioned in this
lecture, use statistics and formulate your own
idea about how to reduce CO2 emission in
civil and/or transport sector.
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Energy Consumption in Transportation Sector (Mtoe)
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Energy Consumption in Transportation Sector (Mtoe)
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Energy Consumption in Passenger Transport (Mtoe)
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Passenger Transport Activity per Capita (km)
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Energy Consumption per Passenger Transport Activity
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Energy Consumption per Passenger Transport Activity
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Energy Consumption per Passenger Transport Activity
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Energy Consumption in Freight Transport (Mtoe)
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Freight Transport Activity

(billion tones-kilometers) Energy Consumption per Freight Transport Activity (1)
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Energy Consumption per Freight Transport Activity (2)
Japanese Number of Cars (1-1)
>
2 140 ~*- Avarage 80
& == Truck EBUs
= a %= Airplane 70 |
g 120 Ship @ Truck i
é \ r{ \q Railwa ’g‘ 60 |— OPassenger Car — =l
£ —~ 100 = = A
E@—% V W S 50 |
fg ® § 40 L |
e prooN . S iy
s 60 haa 2 on S adihe WUV o og o AW é 30 M
2 £ o
E 20 = 20 |
g 10 M
S 20
3 0
E O N T T N T T N T N A I I | 1965 1970 1975 1980 1985 1990 1995 2000
1965 1970 1975 1980 1985 1990 1995 2000
Japanese Number of Cars (1-3)
Japanese Number of Cars (1-2)
0.45
50 | —+— Number of Truck per
Passenger Car 0.40 capita
50 [~ Truck —_— 0.35 | —= Number of Bus per
—~“—Bus population of 100
40 0.30 Number of Passenger
0.25 car per capita —

Number of Car (Million)
w
o

0.20 —f.,wmk.tmﬂﬂm
" —7&* 0.15
o 0.10 WM
el 005 P

0 ) 0.00||||||||||||||||||||||||||||||||||||
1065 1970 1975 1080 1985 1990 1995 2000 1965 1970 1975 1980 1985 1990 1995 2000




Japanese Number of Cars (1-4)
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Japanese Number of Cars (2-1)
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Japanese Number of Cars (2-2)

—x— Passenger Car M
40 [|—*—Passenger Car (Small

| |—¢ Truck (Business) f
—®—Truck (Private) )f)(
Truck (Small)
Bus _)RX(

w
o

w
o
I

&
3

K

K

=
o
i
i\-

0 SESEE S

1965 1970 1975 1980 1985 1990 1995 2000

Japanese Number of Cars (2-3)
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Annual Mileage (km)

Annual Mileage of Japanese Cars
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Japanese Average Freight and Number of Passengers
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